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L. 1 mwn: first n9av and set of MmMay of 3"n3 (note: no 1" before 15t n911v)
a.  »75% would be 1" v11p after he disrobed
Then: puts on ant *133, 9" VITP
7prr They bring him the nn, he begins nvnw (completed by another 112)
o077 m7ay. does DT NpIN YN ,NYap
77120 17107 Enters w1p to burn nMvp and clean out/light the (last 2) mm

o an o

i. Note (about n71vp): in morning, burnt between o7 and lifting up nmax
1. Afternoon: between paR and libations
g.  D2VoN 177 if 3" was elderly or dainty, they would heat water on 3"y to warm up mpn
II. Analysis of dispute between nman/n”1 about 1 vITp

pr7ax nxsyiT Returns to Nty to bring head, leg of nn up to nam along with his nnn and the 703

a. 971 only dispute about sequence; 1 for taking off w1p »m1 and 1 for putting on ( 2> nmwn also n™3)
b. 977 »vpsm explicit kn12 where n™ obligates 1" W17'p even at first change ( >mwn against n”12)

c. 10 7vpon 5777 2 before each enrobing of wTpn M1 (2¥5) — per n™
i. pwom 1 before each enrobing and 1 after each disrobing (1+8+1)

d. Note: v2 “misplaced” tradition of 5/10 changes = (2 to 72 *132 =) 2 entrances to p"nTp >v. 2 out of order

111 Source for n%2v when changing from ant *ma €= 125 ma
a. 227 v.1-all v1p M1 included; source for 1"vp: v. 2
b.  ®7Zax79"vp inferred from v — in place where no n%1v is required, 1"p is required, 1" here
i. 2 pwrpp 1 for enrobing, 1 for disrobing - from wa5...004a
c. iy’ v2: only covers 127 " a0t M1
i. anrom2-> jabnxinferred via vy — (used to go in to p*nTp)
1. Rejected: ant »m1 accomplish far more 0193
ii. Rather: inferred from v. 1: only covers anr »ma =71% *ma
1. ja5 12 ->3ar mx viav'p (accomplishes more n7193)
2. Rejected: 125 »m1 are used to go in to p”n1p

a.  Therefore: N1 "1 uses both wpva (v. 1, v. 2), infers 7"vp via 1p (as per v”ary)

IV. 5 changes: G: 1w Y» Tnn; W: bull, goat, nmop; G: rams; W: removal of nmvp; G: afternoon 1nn
a. Analysis: of »27's opinion (above)
i. &70m "7 not 111 (both 1"p while dressed); not 1" (final 9"°p while dressed)
ii. 37 72 ¥nN 7. all agree that final 9"vp while dressed, from v. 3
iii. &nN 7 &NTDN 77 are mutually exclusive (otherwise, there’d be 15 1"p)
V. “xp”
a. Meaning of word (v4): killing (i.e. beginning of nvnw)
b. Requirement: must cut a majority of the 2 pan’o (“nnw 117”)
i. 57aw7 from extra mwn that requires NNN12 DY 17, even WP, finishing (717'n) is a
mxn but not indispensable (and therefore 7w> with a V171 §n3)
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